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. a3 B . ER 8 "
L parererryy Al % | PR 4% | BR | A% | 2% | T7 I FTE A FF R SH AR AH | 2F
=y e EEEH
5IE# [89.08%~
1 I =E= Albumin-=# 2 94.01%| 94.21%| 97.92%] 96.34%] 98.26%] 97.18%] 96.10% £ 100.00% @) @) @) @) O @)
Albumin(BCG)ZX & 166 75 122 95 126 17 601
Albumin(BCG) ¥ 1E 391] 389 390] 391] 388 395 3.90
Albumin(BCG)=3.587tE 89.52%| 88.98%| 88.10%| 90.98%| 89.54%]| 90.52%| 89.45%| 1EMm@ |>84.53% @) @) @) @) @) @)
Albumin(BCP)Zx & 6 4 8 6 1 1 26
Albumin-¥131&(BCP) 3.67 3.73 342 3.59 3.24 3.31 3.56
Albumin(BCP)=3.08B 4 tE 93.10%| 93.39%| 89.06%| 92.53%| 82.35%| 84.69%| 91.12%| 1Em@ |=>83.95% @) @) O < O @)
57820 |89.02%~
2 URR-5188 3 93.97%| 93.91%] 97.83%| 96.33%] 98.01%] 96.90%]| 95.97% £ 100.00% @) @) @) @) @) @)
URR(102F #1818 H BN /R URR—ﬁi’zﬂE 75.83] 75.63] 75.201 75.191 7471y 74.79] 75.34
Kt/V) URR>65%B77EE 96.92%| 96.79%| 97.26%| 97.19%| 97.08%] 96.62%| 97.04%| 1E@ [>89.00% @) @) @) @) O @)
BIEE [89.28%~
3 Hb-=1gg = 94.30%| 94.40%] 98.23%| 96.54%] 98.65%] 97.61%]| 96.40% £ 100.00% @) @) @) @) @) @)
Hb-F19 1| 10.59] 1055 10.56| 1048 10.65] 10.50} 10.57
Hb(102E#r1E18 B, BC/EHct)[Hb> 8,587 tE 94.68%| 94.76%| 94.90%| 94.92%| 95.74%] 93.60%| 94.95%| 1E@ [|>88.70% O O @) @) @) @)
BED ) B EE < 18 256
5 FTTERN/EEBAR) X 0.67 0.00 042 0.34 0.57 0.52 0.52| &m <1.17 O O O @) @) @)
EEENS i S A
= 0.79 0.61 0.69 0.69 0.60 1.28 0.72| &rm <1.07 @) O O @) > @)
B B B e < 18 256
X 0.93 0.72 1.00 1.26 1.24 1.57 1.03] &g <1.23 @) O @) > > @)
B CEa EA w
= 0.75 0.69 0.78 0.64 0.75 0.71 0.72| & <1.17 O O O @) @) @)
T = B2 P35 77 P 1 < 14k 2 36
X 1.33 0.98 1.03 1.85 1.04 1.19 1.18] &M@ <1.59 @) @) @) @) O @)
T B2 b, 157 A B> 12k« 95 L
= 1.34 1.12 0.66 1.02 0.83 1.78 1.02] &> <1.37 @) O O @) > @)
EEZH B8 < L& 2 5%
X 0.90 0.74 0.98 0.93 0.70 1.14 0.87] &m <1.13 O O @) @) > @)
BB By Se=1E 2oL
= 0.78 0.80 0.81 0.88 0.73 0.69 0.79] &rm <1.11 O O O @) O @)
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#pil%gigj:é*{r%/:\ - 2Hr | A% | PR | 3% | BE | AR | 2% 3 FHE|E2MP TP R BERIAE| 2%
e EEME EREl
S8 [89.34%-~
1 == Albumin-=g = 99.11%| 98.44%] 98.89%| 97.63%] 98.70%] 96.75%] 98.64% £ 100.00% @) @) @) @) @) @)
Albumin(BCG) X & 23 17 22 17 16 3 98
Albumin(BCG)Y¥1391& 3.73 3.78 3.69 3.70 3.70 3.81 3.72
Albumin(BCG)=3.587tE 78.05%] 82.96%| 77.50%| 78.98%]| 78.13%| 86.55%| 78.96%| k@ [|>78.97% < @) < < O <
Albumin(BCP)ZX 5 1 7 1 14
Albumin- Z_Fi’ME(BCP) 3.35 2.99 3.23 3.13 3.28
Albumin(BCP)=3.08 47 tE 80.43%| 57.14%| 81.06%| 76.19% 80.07%| 1EM@ |=79.43% @) < @) @)
BIEE [89.33%~
3 |Hb(102&FE#1E18 B, B /RHct) |[Hb- = &R 99.17%| 98.36%] 98.89%| 98.17%] 98.72%] 94.00%] 98.69% £ 100.00% @) @) @) @) @) @)
Hb-F19 1| 10.51] 10.58] 10.12} 10.10f} 10.23] 10.23] 10.33
Hb> 8. 5847LE 91.74%| 92.28%| 88.89%| 90.04%| 91.25%] 91.49%| 90.94%| 1Em@ |>87.44% O O O @) @) @)
AT, B < 18 256
5 FTTERAN/BEEBAR) gz 0.88 0.59 0.36 0.00 0.00 0.00 047 &ia <0.39 > > @) @) O >
EEEDS i S 2 e
= 0.35 0.00 0.21 0.19 0.61 0.00 0.30] &I <0.67 O O @) @) @) @)
B B B i < 18 2 36
X 0.76 0.52 0.00 0.78 0.52 0.00 0.58] &l <0.71 > O O @) @) @)
5 15, B2 P 3o 1T HS =1 2F 2 35 T
= 0.61 0.58 1.17 0.62 0.62 0.00 0.67| & <0.94 O O > @) O @)
T = B2 P35 17 P 1 < 12k 2 36
X 0.00 0.00 0.68 0.00 041 & <0.67 O O > @) @)
T B2 b, 157 A B> 12k« 95 L
= 0.00 1.04 1.73 0.00 0.90| & <0.97 @) > > @) @)
EEZH B8 < L& 2 5%
X 0.00 0.00 0.00] &I <1.06 @) @) @)
BB By Se=1E v o0
= 3.45 0.00 0.00 0.00 0.59] &m <0.60 > O @) @)
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105& %1% A~ 285 | 0.02% 0. 22% 0.10% 0.01% 0.01% [ 0.02% [ 0.06%
1052 % 2% |4~ 5 | 0.02% 0.18% 0. 09% 0.01% 0.01% [ 0.00% [ 0.05%
105& 3% A~ F | 0.01% 0.21% 0. 09% 0.01% 0.02% [ 0.00% [ 0.05%
1052 %4F A28 5 | 0.01% 0.17% 0. 09% 0.01% 0.03% [ 0.01% [ 0.05%
105 |3+ [A#HpF | 0.01% 0.19% 0. 09% 0.01% 0.02% | 0.01% | 0.05%
106#F %1% |4~ 1285 | 0.01% 0. 18% 0. 18% 0.01% 0.00% | 0.01% | 0.07%
106#F % 2% |4~ 1285 | 0.11% 0. 19% 0.11% 0.01% 0.01% | 0.00% | 0.08%
106 %3% 4=+ 5 | 0.01% 0. 22% 0. 08% 0.01% 0.01% | 0.00% | 0.05%
106# %4F |#~F+ip 3 | 0.02% 0. 15% 0. 06% 0.01% 0.01% | 0.01% | 0.04%

106 -] 3+ |4+ s | 0.04% 0.19% 0.11% 0.01% 0.01% | 0.01% | 0.06%
107# 5% 1% [#PiPues | 0.01% | 0.16% | 0.06% | 0.01% | 0.01% | 0.01% | 0.04%
107# 5% 2% &P 3 | 0.02% 0. 23% 0.07% 0.01% 0.01% | 0.00% | 0.06%
107# % 3% &3 | 0.02% 0. 20% 0. 08% 0.01% 0.01% | 0.01% | 0.05%
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dp D] RS 45§

%Ak fi-o 9 39 (Albumin)

FF pa Yl =nin Jt&E & & =5 RE /et
1044/t |sepE 167 81 121 104 117 18 608
Albumin-f# & Fh3% 98.66%| 99.39%| 99.20%| 99.01%| 99.06%| 98.37%| 99.37%
Albumin(BCG) % # 159 76 111 100 116 17 579
Albumin(BCG)FH1H 3.9044] 3.8574] 3.8984] 3.9009] 3.8448] 3.9092] 3.8837
Albumin(BCG) =35 F4vbE | 94.44%| 93.39%| 94.11%| 94.50%| 93.46%| 91.98%| 94.03%
Albumin(BCP) 5 8§ 17 11 17 12 5 3 65
Albumin->F:5{¢ (BCP) 3.4823]  3.4103] 3.3515] 35594 3.2502] 3.4646|] 3.4314
Albumin(BCP)=3.0 47tk | 93.44%| 90.67%| 92.13%| 94.89%| 83.33%| 94.85%| 92.86%
1054/ \at |ty 174 80 125 102 119 19 619
Albumin-f# & Fh% 97.99%| 98.97%| 98.93%| 98.76%| 98.87%| 97.80%| 98.91%
Albumin(BCG) % # 169 75 115 98 118 18 593
Albumin(BCG)FH1H 3.8877] 3.8445] 3.8911] 3.8889] 3.8433] 3.9287| 3.8744
Albumin(BCG) =35 F4vEE | 94.18%| 92.62%| 93.99%| 94.02%| 93.36%| 93.28%| 93.78%
Albumin(BCP) % # 9 6 12 10 1 2 40
Albumin->F:5{¢ (BCP) 35065 3.4446] 3.3451] 3.7644] 3.2133] 3.2443]  3.4373
Albumin(BCP)=3.0 F47kE | 93.99%| 90.54%| 92.15%| 96.47%| 90.48%| 86.11%| 92.71%
1065/ \at | ety 178 82 130 102 124 19 635
Albumin-f# & Fh3#% 98.00%| 98.46%| 98.67%| 98.31%| 98.80%| 97.43%| 98.67%
Albumin(BCG) % 172 77 120 100 123 18 610
Albumin(BCG)F-+51H 3.8876] 3.8527] 3.8963] 3.9012] 3.8664] 3.8995] 3.8823
Albumin(BCG) =35 F4yEE | 93.73%|  92.96%| 94.07%| 94.26%| 94.40%| 93.78%| 93.95%
Albumin(BCP) % # 11 6 10 6 4 2 39
Albumin->F:5{¢ (BCP) 35972 3.3056] 3.4043] 3.7199] 3.2484] 3.2314]  3.4659
Albumin(BCP)>=3.0 4tk | 96.68%] 91.36%| 93.47%| 96.35%| 89.86%| 86.43%| 94.25%
107512 [FrprE 165 78 128 101 127 19 618
Albumin-f# & FE3% 92.02%| 93.49%| 98.02%| 96.92%| 98.16%| 97.33%| 95.52%
Albumin(BCG) % # 158 73 117 96 126 18 588
Albumin(BCG)F51H 3.9018] 3.8449] 3.9132] 3.8989] 3.8662] 3.8911] 3.8872
Albumin(BCG)>3.5 4yt | 89.55%| 87.00%| 89.73%| 89.76%| 89.19%| 88.68%| 89.13%
Albumin(BCP)Zz 8] 8 5 11 6 1 1 32
Albumin-3F-#5{g (BCP) 3.6741] 33718 3.3914] 3.6873] 3.1509] 3.2313] 3.5032
Albumin(BCP)=3.07 57kt | 93.03%| 82.37%| 87.04%| 95.06%| 73.58%| 80.21%| 88.91%
1075522 |FprE 173 79 131 101 124 18 626
Albumin-fg & L% 96.67%| 96.28%| 96.90%| 97.26%| 97.09%| 96.77%| 96.94%
Albumin(BCG) % 167 74 121 97 123 17 599
Albumin(BCG)-F51{H 3.8956] 3.8516] 3.8833] 3.8969] 3.8516] 3.8715] 3.8778
Albumin(BCG)>3.5 4yt | 89.32%| 87.24%| 88.39%| 90.75%| 88.31%| 89.14%| 88.88%
Albumin(BCP)Zz 5 6 5 10 5 1 1 28
Albumin-3F-#5{g (BCP) 3.6025] 3.4029] 3.4243] 3.5300] 3.2226] 3.2328] 3.4731
Albumin(BCP)=3.07 57kt | 91.18%| 84.58%| 88.48%| 91.83%| 79.25%| 85.42%| 88.84%
107532 |FprE 172 79 130 99 127 18 625
Albumin-fg & 2% 94.01%| 94.21%| 97.92%| 96.34%| 98.26%| 97.18%| 96.10%
Albumin(BCG)Z 166 75 122 95 126 17 601
Albumin(BCG)-F51H 3.9083] 3.8893] 3.8978] 3.9100] 3.8765] 3.9455] 3.8985
Albumin(BCG)>3.5 4yt |  89.52%| 88.98%| 88.10%| 90.98%| 89.54%| 90.52%| 89.45%
Albumin(BCP)Zz 5 6 4 8 6 1 1 26
Albumin-3F-#5{g (BCP) 3.6694] 37342 3.4232] 35933 3.2392] 3.3133] 3.5564
Albumin(BCP)=3.07 47tk | 93.10%| 93.39%| 89.06%| 92.53%| 82.35%| 84.69%| 91.12%
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(B)BCCHRERE) =3.55 47 Eb=53 1% AR Albumin(BCGIE) = 3.5gm/d1Z A B8 M MR B A% AR Albumin(BCGiE) A% - f5154m5%E : = © 1958
CAE 1986 o

(HBCPREERE) = 3.0 5 47 bb=43 5% N M= Albumin(BCP/A) = 3.0gm/d12 A\ B5y/18 4: M 38477 A HIE Albumin(BCPIE) A - F5E4R5E © = ¢ 1959
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DL % 4Ty

%54 - i 35 (Albumin)

HEF RNl BEGL | BEERE | WERE | EER2HT
1045/ Ne T |BEpT L 19 74 154 361
Albumin-f L% 98.34% 98.85% 99.04% 99.12%
Albumin(BCG) 5z & 18 64 138 359
Albumin(BCG)F591{H 3.8757 3.8792 3.8486 3.8999
Albumin(BCG)=3.5 F47EE 92.99% 93.03% 91.68% 94.95%
Albumin(BCP) % 3 13 25 24
Albumin-3}-35{¢ (BCP) 3.5182 3.3883 3.4262 3.5896
Albumin(BCP) =3.07 547 EE 95.60% 91.41% 92.33% 96.15%

10545/t |PeprEs 19 75 157 368
Albumin-f L% 98.79% 98.41% 97.49% 98.88%
Albumin(BCG) 5z & 18 67 142 366
Albumin(BCG)F91{H 3.8675 3.8847 3.8437 3.8815
Albumin(BCG)=3.5" 47k 93.62% 92.88% 91.46% 94.45%
Albumin(BCP) 57 2 11 18 9
Albumin-3Z$5{g (BCP) 3.3750 3.4406 3.4343 3.5415
Albumin(BCP)=3.07 i 47EL 94.06% 92.70% 92.12% 94.64%

1064E/ et |PeprEs 19 75 154 387
Albumin-fg & L% 98.42% 98.22% 97.47% 98.58%
Albumin(BCG) %z & 18 66 141 385
Albumin(BCG)E51{H 3.8758 3.8771 3.8499 3.8963
Albumin(BCG)=3.5" H4yLL 93.82% 93.39% 91.23% 94.69%
Albumin(BCP) 37 1 11 15 12
Albumin-3Z$5{g (BCP) 3.4456 3.4953 3.4142 3.5857
Albumin(BCP) =3.07 F 47 th 95.76% 94.85% 92.41% 96.38%
EETEN G 19 72 146 381
Albumin-fg & FH% 98.35% 94.78% 91.91% 96.61%
Albumin(BCG)ZZ #4 18 62 131 377
Albumin(BCG)FH{H 3.8912 3.8762 3.8449 3.9048
Albumin(BCG)=3.5" 4Lk 88.71% 87.74% 86.16% 90.76%
Albumin(BCP) % 1 11 15 5
Albumin-3F-$5{g (BCP) 3.3485 3.5538 3.4400 3.6432
Albumin(BCP) =3.07 F 47 Eh 86.35% 90.43% 86.96% 91.53%
107456278 |Fpri 19 74 150 383
Albumin-fg & Fh% 98.45% 96.36% 95.66% 97.25%
Albumin(BCG)ZZ #4 18 64 136 381
Albumin(BCG)EH5{H 3.8846 3.8753 3.8383 3.8909
Albumin(BCG)=3.5" 4y EL 88.21% 88.43% 86.23% 90.10%
Albumin(BCP) 37 1 10 14 3
Albumin-3Z$5{g (BCP) 3.4312 3.4878 3.4503 3.5751
Albumin(BCP)=3.07 i 47EL 88.97% 88.77% 89.33% 84.17%
10745537 |Fpriy 19 73 146 387
Albumin-fg & EE% 98.29% 95.43% 93.53% 96.84%
Albumin(BCG) %28 18 64 133 386
Albumin(BCG)E5{H 3.9140 3.8943 3.8629 3.9091
Albumin(BCG)=3.5" 4y LL 90.60% 88.87% 86.67% 90.41%
Albumin(BCP) 37 1 9 13 3




Albumin->f15/{E (BCP) 3.4311 3.6186 3.4907 3.8733

Albumin(BCP)=3.07 H 47tk 90.56% 92.17% 89.66% 100.00%
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()BCGHERE) = 3.5 43 Eb=0BHm A& Albumin(BCG;%) = 3.5gm/dl2. A B8 M iR B i A HI & Albumin(BCG
ENEL - FERELRSE  FF 0 1958 ~ AE 1 1986 -
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ApEHD2 R E AT _Fik ¥ B4 5 -URR

FF SEA] &ait | Jt& tE | BME | B | FE | /st
104/ Net |BEp 167 81 121 104 117 18 608
URR-f@ A bE% 98.57%] 99.07%] 98.61%] 98.97%| 98.98%| 98.31%| 99.21%
URR-FH{H 75.4746] 75.6802] 74.5939] 74.6092] 74.3221| 73.9374] 74.9397
URR=65%2 FH57tE 98.82%] 98.69%] 98.88%] 98.90%| 98.76%| 98.73%| 98.85%
1054/ Net  |BEp 174 80 125 102 119 19 619
URR-f A bE% 98.15%] 98.70%] 98.94%]| 98.71%| 98.81%| 97.74%| 98.90%
URR-F{H 75.6444] 75.6798] 74.6918] 74.9613] 74.5269] 74.1420] 75.0974
URR=65%_2 F57tE 98.87%] 98.72%] 98.78%] 99.02%| 99.05%| 98.34%| 98.91%
1065/ Nat | BEp 178 82 130 102 124 19 635
URR-fm A bE% 97.96%] 98.30%] 98.62%] 98.28%| 98.75%| 97.22%| 98.62%
URR-F{H 75.4800] 75.2321) 74.5874] 74.7841| 74.5492| 74.3437] 74.9528
URR=65%2 FH57tE 98.88%] 98.65%] 98.86%] 98.96%| 98.96%| 98.84%| 98.90%
1074E5517R [FepTE 165 78 128 101 127 19 618
URR-f A bE% 91.91%] 93.25%] 97.90%] 96.88%| 97.96%| 97.16%| 95.38%
URR-*F9(H 75.0986] 74.8730] 74.3147) 74.4755| 74.0748] 73.9833] 74.5874
URR=65%_" 5 7rtb 95.95%] 96.31%] 96.63%] 96.84%| 96.63%| 95.82%| 96.42%
1074E5527F [FepT# 173 79 131 101 124 18 626
URR-f A bE% 96.57%] 96.09%] 96.84%] 97.15%| 96.83%| 96.83%| 96.81%
URR-*F9(H 75.4791] 75.1215] 74.8050] 74.9373] 74.5015| 74.3554] 75.0011
URR=65%_ 5 77tb 96.44%] 96.58%] 97.25%] 97.02%| 96.93%| 96.37%| 96.81%
1074E5532R [FepT# 172 79 130 99 127 18 625
URR-f@ A bE% 93.97%] 93.91%] 97.83%] 96.33%| 98.01%| 96.90%| 95.97%
URR-*F9(H 75.8304] 75.6261] 75.1957] 75.1897| 74.7090] 74.7922] 75.3365
URR=65% " 7rtb 96.92%] 96.79%] 97.26%] 97.19%| 97.08%| 96.62%| 97.04%
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(3)=65% 2 F 7y th=57 B ARIEURR = 65% 2 ANBUIS M MRETHR AIEURR AR - $51824R5% - 22 0 1963 ~ 41 1991 -
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I EHD2 5B 47 _FiE § B47oF -URR
FEFR F&E R BEg, | EEER | #EER | EE2Hh

1045E/ NG Bre Fir s 19 74 154 361
URR-fg 25 b 98.21% 98.68% 98.28% 99.08%
URR-F5{H 74.5473 74.9538 75.0604 74.9613
URR=65%_" 54 EE 98.51% 98.39% 98.56% 99.05%

1054E/ NG Sz 19 75 157 368
URR-fg 25 bR 98.66% 98.32% 97.63% 98.84%
URR-F5{H 74.4308 75.0531 75.0821 75.2584
URR=65%_" 54 tE 98.28% 98.63% 98.61% 99.08%

1064F/ NG Sz 19 75 154 387
URR-f§ & [H% 98.33% 98.11% 97.39% 98.53%
URR-EZ5{H 74.2074 74.8047 75.1097 75.1088
URR=65%_" 5 4r1L 98.45% 98.56% 98.67% 99.05%

1074551 B 19 72 146 381
URR-f§ & [H% 98.01% 94.60% 91.77% 96.52%
URR-EZ5{H 73.8992 74.5628 74.7934 74.6625
URR=65%_" 5 4kL 96.21% 95.90% 96.45% 96.68%

107455228 |Befn# 19 74 150 383
URR-f§ & [H% 98.02% 96.21% 95.57% 97.17%
URR-EZ5{H 74.4559 74.7985 75.1878 75.1330
URR=65%_" 5 4r1L 96.49% 96.22% 96.84% 97.13%

1074EEE3F I 19 73 146 387
URR-f§ & FE% 98.13% 95.34% 93.36% 96.71%
URR-F5{H 74.5148 75.3576 75.5377 75.4138
URR=65%_" 5 471L 96.82% 96.74% 97.02% 97.22%

{%:z

ERIAOR © R ERRG RIS -
ERIEE © I BENT I ER05) K BT B8R VPN L B BRI -

3/\ﬁ sBH

(D =43 R AHI B URR A B8 M MURB T AL - $5RE4RSE © 25 1 1962 ~ 4F & 1990 -

(2) P18 = SR URR BB B =~ S8R0/ FH B URRARER (B A A0 48458 - $51E4R9% © 20 2036 ~ 4E ¢ 2056 -

(3)=65% 2 43 Eb=53 1 ASHIE URR = 65% 2 N\ B8 MR A5 A= URR A S - F5idmst © 28 0 1963 ~ 4

1991 -

TIMEENTIREA
FAIEFEE Ry 102£ﬁ¥ﬁi*?affﬂﬁ

C LR HsET

4.8 H B 108/01/22
SEERBRAML © R rE A ED L R R

W A3 H R T2
AR EITKY VIR R

BENEEZRA -




FhHEHD3 £ BT _patk A -Hb

HFEF 511 &k JE& & B & 1= 5 RE /Net
1044/ Na T |Be T 167 81 121 104 117 18 608
Hb-fg e EEe% 08.78%| 99.43%| 99.27%| 99.18%| 99.24%| 98.37%| 99.50%
Hb-E45{E 10.5071] 10.4700] 10.5391| 10.4979] 10.5886| 10.3928] 10.5193
Hb>8.5g/dL” Fi453EE | 98.40%| 98.47%| 98.48%| 98.81%| 98.91%| 97.08%| 98.59%
1054/ Nat (e 174 80 125 102 119 19 619
Hb-fg e EE% 98.47%| 99.15%| 99.12%| 98.96%| 99.10%| 98.29%| 99.19%
Hb-E45{E 10.5103| 10.4163| 10.4892| 10.4821] 10.6001| 10.4379] 10.5050
Hb>8.5g/dL” F47kE | 98.21%| 98.40%| 98.39%| 98.49%| 98.99%| 98.26%| 98.52%
1064E/ N2t [epEs 178 82 130 102 124 19 635
Hb-fg & FE% 98.29%| 98.66%| 98.75%| 98.44%| 99.02%| 97.97%| 98.91%
Hb-E45{E 10.5046] 10.4724] 10.5611| 10.4444] 10.5944] 10.3619] 10.5150
Hb>8.5g/dL” F47kE | 98.31%| 98.21%| 98.60%| 98.67%| 99.00%| 96.82%| 98.55%
10751 |BeArE 165 77 127 101 127 19 616
Hb-fg e EEe% 92.44%| 93.83%| 98.45%| 97.09%| 98.46%| 97.06%| 95.89%
Hb-E15(8 10.4899] 10.4521] 10.4301| 10.3525] 10.5258| 10.3625] 10.4540
Hb>8.5g/dL > Fi4yEE | 94.11%| 94.29%| 94.15%| 94.61%| 95.38%| 91.24%| 94.41%
107465527 |Psepn 173 79 131 101 124 18 626
Hb-fg e FEe% 97.12%| 96.96%| 98.18%| 97.37%| 97.63%| 97.15%| 97.53%
Hb-E45(8 10.5448| 10.4849] 10.5226| 10.4930] 10.6377| 10.4522] 10.5385
Hb>8.5g/dL E43EE | 94.52%| 94.29%| 94.53%| 95.34%| 95.82%| 92.53%| 94.82%
10746583 |fsepn 172 78 130 99 127 18 624
Hb-fg e FEe% 94.30%| 94.40%| 98.23%| 96.54%| 98.65%| 97.61%| 96.40%
Hb-E15(8 10.5891| 10.5488] 10.5612| 10.4778| 10.6464] 10.5040] 10.5687
Hb>8.5g/dL E47EE | 94.68%| 94.76%| 94.90%| 94.92%| 95.74%| 93.60%| 94.95%

fst

LERAOR © IR R FRGIMER DT -
LERIHEE : FUEDS RS EMEAT VPN L e gfifE -

3T

(DIREEER=7 B AN EH NBUISTEIMIRENTR AR - fEIRmSE © 2 0 1964 ~ 41 1994 -

Q) EHE=FR R HbIR SR E ~ S8H1/ R Hb R ERE K0 S8 H - FEIE4RTE - 25+ 2037 ~ & ¢ 2058 -
(3)>8.5g/dLz E 4y bb=43 BHH AHIEHb>8 Sg/dLz ABUe M MR B Hrm R EHb NS - F51E4maE © 28 ¢ 1966 ~ 451 1996 o
¥ TIBMETEA ) TR - EEBE H AT - B (E A RHPIRENE G A
KRR EAE B AL A E B R IR B M & i it S E )
ARTEFR R Ry 1 0245 - BRI AT Hetf e s
4.2432 HEA: 108/01/22

SEEREAL - HAEERE P R RS




i HHD3 B4 _f i A -Hb
HEF &R BEg, | EEER | EER | A2
10446/ NxF e 19 74 154 361
Hb-f b 98.64% 99.03% 99.25% 99.22%
Hb-F51E 10.6253 10.6217 10.4634 10.4746
Hb>8.5g/dL" 547 EE 98.60% 98.57% 97.97% 98.51%
1054E/hsF  |Beprdg 19 75 157 368
Hb-f & b 99.20% 98.67% 98.06% 99.07%
Hb-F51E 10.5485 10.5815 10.4343 10.4883
Hb>8.5g/dL" 547 EE 98.72% 98.63% 98.07% 98.32%
1064E/NsF | 19 75 154 387
Hb-fg & FE% 98.58% 98.48% 97.81% 98.77%
Hb-F5{E 10.5707 10.5866 10.5037 10.4773
Hb>8.5g/dL>” 5 47EL 98.75% 98.70% 97.83% 98.45%
107458128 |Befnil 19 72 146 379
Hb-fg & FE% 98.80% 94.69% 92.59% 96.91%
Hb-FH51E 10.5233 10.5161 10.4388 10.4183
Hb>8.5g/dL>" 5 47EL 95.66% 94.95% 93.57% 94.20%
107555228 IR 19 74 150 383
Hb-fg & FE% 98.92% 97.19% 96.53% 97.62%
Hb-FH51E 10.6100 10.5800 10.4863 10.5248
Hb>8.5g/dL>" 5 47EL 95.54% 95.41% 93.73% 94.80%
10755532 |BeFTH 19 73 146 386
Hb-g 2 FE% 98.61% 95.62% 93.81% 97.12%
Hb-E5{E 10.6689 10.6290 10.5481 10.5300
Hb>8.5g/dL” 5 47EL 96.06% 95.27% 94.59% 94.72%
{%&
ERIAOR © R ERRG RIS -
EORIEEE © PIE2 R BT B8R VPN S haER 2R -
3/\ﬁ sBH
(DIREEE =43 B ACHIEHD AU IS MEIROE TR AR - S5IE4RE © 250 1964 ~ 450 1994 «

(2) P {E = HHbha B (2 SN/ F S HbARSR(E AN 0.2 SERERD - FE1F4m5E + &+ 2037 »
(3)>8.5¢/dLZ F 43 EE=57 1 AHIEHD>8 Sg/dLz NE/Ae M MU AT A HIEHD A8 - FEiEdmsE © & ¢

1996 o

TIEMEENTREA

4. BUFE HHA: 108/01/22

SBGREAL

AR AR L (AR Orba

C LR HsET
XEFK%IEE%%&%J%&ZFF B R IR E M A (st 1)
*RTEFERE Ry 102 Hr i Fa A -

G A H TR
AR MR BT HCHE 1S

BENEEZRA -

A0 2058 e
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BARHDS it SRR <&~

FEF pal= il adt | tE | 7& | B&E | &F | X&E | /st
1044E/NaT  IPBEATHSRE<1E 2 SR T AN B 338 182 211 204 176 36 1,118
BT <LAE 2 489K A H# | 32,841 17,183] 21,407| 18,026] 18,913] 2,971] 110,052
BT <LV 2 R 1.0292] 1.0591] 0.9856] 1.1316] 0.9305] 1.2117] 1.0158
1054E/Nat  IPBEATHSRE<14E 2 SR T AN B 344 167 228 196 199 43 1,148
BRI <LAE 2 489K A H# | 34,638] 17,575] 22,062 19,389] 19,194| 3,477 115,128
BT <L 2T 0.9931] 0.9502] 1.0334] 1.0108] 1.0367] 1.2366] 0.9971
1064E/NaT  IPBEATHSRE<14E 2 SR T AN B 378 192 254 199 198 26 1,209
BRI <LAE 2 489K A H# | 36,018] 18,849 22,275 18,848] 20,035 3,056 117,769
BT <LUEE 2R T 1.0494] 1.0186] 1.1402] 1.0558] 0.9882] 0.8507] 1.0265
10741 PETIRFEI<VEZIET AE 98 40 50 56 47 6 293
BT <L 2 489 A H 8 9,482 4,974] 5,571 4,817] 5,440 797] 30,659
BTG EI<VE RT3 1.0335] 0.8041] 0.8975] 1.1625| 0.8639] 0.7528] 0.9556
1074E 5527 EMTHIFEI<UE ZIET AE 71 35 59 38 36 6 243
BT <L 2 489 A H 8 9,609] 5,034] 5,569] 5,011} 5,365 917] 31,193
BTG <VE 2R 0.7388] 0.6952] 1.0594] 0.7583] 0.6710] 0.6543] 0.7790
1074E 5533 BT EI<UE IR T AE 88 40 52 50 47 9 285
BT <L 2 489 A H 8 9,576] 5,018] 5,488] 4,927] 5,408 941] 31,091
BTG <VE 2R 0.9189] 0.7971] 0.9475] 1.0148] 0.8690] 0.9564] 0.9166
st

LERCR © RRE B RGTRER AT - f5RSE - = ¢ 1440 ~ &£

2EREIE - PR EMT G ER05) ~ KORE

3G

1450

B < 1SR T R = CEHEHRIENT/NAVEZIECTEZRED X 100,/ GEHEART ST/ N 1 Z 885 A 8
T3 R E TR Z SR AR -

ortE L IEATRE < VEAVRMEENTR A Rt EA R Rf T2 iE S Z AR -

¥ TEMENTEA ) EFE  AGEEE HHEIARET - S EE3(E H BIRPIR BT R
4 BIFZHHEA ¢ 108/01/22
SEEREA - FAEFE SRR R 2




BARHDS i SRR <&~

FF e bl BE10 | BN | WER | ZE2Hh
1044E/Nat |PENTHERE<1E 2 IR T A 121 331 362 477
BRI <L 2 4895 A H B 10,831 30,964 24,556 46,496
BT <L 2 R T 1.1171 1.0689 1.4741 1.0258
1054E/Nat |PEMTHERE<1E IR T A B 122 337 335 515
BRI <L 2 4895 A H B 12,283 31,012 23,723 50,936
BT <L 2 R T 0.9932 1.0866 1.4121 1.0110
1064E/Nat  |PENTHERE<1E IR T ANEY 138 371 350 544
BRI <L 2 4895 A H B 12,758 31,136 24,358 52,404
BT <L 2R T 1.0816 1.1915 1.4368 1.0380
107451 |EIRE<VEIET AR 25 72 81 131
BRI <L 2 4895 A H B 3,165 8,017 6,327 14,039
BRI <LV 2R T 0.7898 0.8980 1.2802 0.9331
1074E552F /B REI<UE IR T AE 21 52 65 119
BRI <L 2 4895 A H B 3,014 8,175 6,471 14,277
BRI <LV 2R T 0.6967 0.6360 1.0044 0.8335
1074E553F B EI<UEIET AE 15 82 76 126
BRI <L 2 4895 A H B 2,869 7,953 6,466 14,445
BRI <LV 2R T 0.5228 1.0310 1.1753 0.8722
st

LERACR © RIRE B RGTRER IR - 50T - =0 1449 ~ 5 ¢ 1450
2EREIE | PR EMT G EER05) ~ KR E

3G

BT <13 R= CERSHRZENT/ MR TEZIETEZEED X 100,/ CEHEHREIEN /IR 1 Z 888 A H 80
T3 R TR Z SR AR -
ortE IEATRE < VEAVRMEENTR A Rt EA R Rf T2 iE S Z AR -

# TRMRENTR A ) EFE ¢ AKHLEE 0 IIET - R E H PR BN = 2R A

4 BIFHHEA © 108/01/22
5EEREA - BAEFE SRR R




AptRHDD s R AT _B TR <1E 252 ¥

FF R ST =it | & | & | H& | &F | E& | /het
1044/ Nt B8 L BT <V 2 3BT A B 53 9 23 7 22 7 121
ENTIRR<1E g A HE | 3,886] 792 2,396] 1,041] 2,204] 529] 10,831

ERTIERE<1E 2 IET % 1.3638] 1.1363| 0.9599] 0.6724| 0.9981| 1.3232| 1.1171

EIREE N AR <1E IR A8 102 57 59 65 41 9] 331

ERTE RS <14 45 A B8 | 8,236] 5,167| 6,094] 6,078] 4,580]  884| 30,964

BT RE <1E 2 SE % 1.2384] 1.1031] 0.9681| 1.0694| 0.8951] 1.0180| 1.0689

HmEEfR BT <1E R A8 83 80 75 62 50 14] 362
NI <1 4% A H# | 5,510 6,208] 5,772] 3,047 3,453]  657| 24,556

ETIERE<1E 2 IET % 1.5063] 1.2886] 1.2993| 2.0347| 1.4480| 2.1308| 1.4741

HEg2m |BREE<IEIET A 159 55 88 88 86 11 477

ERTE R <142 4 A B8 | 15,885 5,256 7,530] 8,089] 9,087]  988| 46,496

ISR <1 2 SE % 1.0009| 1.0464] 1.1686| 1.0878| 0.9464] 1.1133| 1.0258

1054/ et [ chy, BEMIRRE<1E IR0 A8 54 3 34 11 15 5 122
ENTIRR<1E 4% A B8 | 5,064 633 2,844] 978 2,275]  507| 12,283

BTG <UE 2 SRR 1.0663] 0.4739] 1.1954] 1.1247| 0.6593] 0.9861| 0.9932

EIKEElR EA IR <14E > ZE T A8 93 55 62 57 49 26 337

ERTE RS <1 4a A B8 | 8,129 5,476 5,918 5,978] 4,438] 1,142| 31,012

ISR <1 2 SE 0% 1.1440| 1.0043| 1.0476] 0.9534| 1.1041] 2.2767| 1.0866

WS AR <1E IR AE 57 75 83 55 57 8] 335

ERTRE RS <1 > 4ahs A B | 4867 6,183 5,580] 2,831] 3,370]  944| 23,723

BN <UE 2 SRR 1.1711] 1.2130] 1.4874] 1.9427| 1.6913| 0.8474| 1.4121

HiEg2ir AR <IEIET A 183 47 85 96 95 15] 515

ERTE RS <142 45 A B8 | 17,270] 5,503] 8,008] 9,863] 9,555 978| 50,936

ISR <1 2 SE % 1.0596| 0.8540] 1.0496| 0.9733| 0.9942] 1.5337| 1.0110

1064F/ et [ ch,y, AR R<1IE SR A8 67 2 28 7 28 6 138
ENTIER<VE 4% A B8 | 5,577 728 2,459] 1,142 2,389  469| 12,758

BN R<UE 2 SR T 1.2013] 0.2747] 1.1386] 0.6129] 1.1720] 1.2793| 1.0816

EIEE R BRI <UE 2 ZE T A8 80 76 85 80 42 0] 371

ENT R <142 485 A B8 | 8,480 6,061] 5,660] 5,632 4,432] 942| 31,136

BT R <LE 2 SR TR 0.9433| 1.2559] 1.5017| 1.4204] 0.9476] 1.0615| 1.1915

HIEEEfw PEMTIERI<LIEFET A8 69 83 91 37 61 10] 350
ENTIER<VE > 4m A B# | 4,921 6,171 5,935] 2,817 3,851]  718| 24,358

BN R<UE 2 SR 1.4021] 1.3450] 1.5332| 1.3134| 1.5840| 1.3927| 1.4368

Hig2rn BmiER<UEZET A8 206 52 96] 100 94 7| 544

ERTI R <14 485 A B8 | 17,667 6,145 8,642] 9,496] 9,836] 1,043| 52,404

BTG <1E 2 IR TR 1.1660| 0.8462| 1.1108| 1.0530| 0.9556] 0.6711| 1.0380

1074551 B2 BRI <1EZIE T AHL 9 0 11 2 2 1 25
ENTIER<1E g% A HE | 1,350 220  515] 310 592 178] 3,165

BN R<UE 2 SR T 0.6666] 0.0000| 2.1359| 0.6451| 0.3378] 0.5617] 0.7898

EIEEfw BTSRRI <1 3R T A 22 9 10 19 11 1 72

ENT R <1E > 485 A B8 | 2,130] 1,548 1,446 1,531] 1,138] 234] 8,017

FEMTIRE<LE > RT3 1.0328] 0.5813| 0.6915| 1.2410] 0.9666| 0.4273| 0.8980

HlEmEE e AT <12 IR T AH 23 21 14 8 13 2 81
ENTIER<1E g% A 5 | 1,249] 1668 1,518]  688] 1,030] 190] 6,327

BN R<UE 2 SR T 1.8414] 1.2589] 0.9222| 1.1627| 1.2621| 1.0526| 1.2802

FEZRT |EEE<VE 23T A 50 10 19 28 23 3 131

ENTE R <1E > 4ms A B8 | 4937 1,611 2,215 2,366] 2,808]  243| 14,039

BT <LE 2 FE TR 1.0127| 0.6207| 0.8577| 1.1834| 0.8190] 1.2345| 0.9331

107456523 (B2 BRI <1 23R T AHL 14 0 1 1 3 2 21
ENTIER<1E > gam A HE | 1,248 207 500] 310 557 195] 3,014




BT E<UE 2 TR 1.1217] 0.0000] 0.2000] 0.3225] 0.5385] 1.0256] 0.6967

EiE b | BT E<1E 2T AR 12 13 15 8 3 1 52
BT R<VE > 405 A H 8 | 2,101] 1583] 1,455 1.606] 1,170] 267 8,175

BT <UVE 2 JE TR 0.5711f 0.8212] 1.0309] 0.4981f 0.2564] 0.3745| 0.6360

sEEhe | AT <1 ZIET A8 13 12 22 7 9 2 65
EHTH<UE 4 A HE | 1,293] 1,697 1544] 695 1,017]  238] 6,471

BT E<UVE 2 TR 1.0054] 0.7071] 1.4248] 1.0071| 0.8849| 0.8403| 1.0044

HIG2AT | BT E<1E 2T AR 39 11 24 23 21 2] 119
BEITHE<UE > 4% A H % | 5122] 1,607] 2,186] 2463] 2,742]  248] 14,277

BT <UVE 2 JE TR 0.7614] 0.6845| 1.0978] 0.9338| 0.7658| 0.8064] 0.8335
10745535 |Sg 8ol MR HI<14E Z S0 T A 8 0 2 1 3 1 15
EITHE<UE 4 A HE | 1,196] 187  474] 294  528] 193] 2,869

BT E<UVE 2 TR 0.6688] 0.0000f 0.4219] 0.3401f 0.5681| 0.5181| 0.5228

EiE T | BT E<1E 2T AR 19 11 14 19 15 4 82
BT E<VE > 405 A H 8 | 2,050] 1535 1,407 1508 1,206] 255 7,953

BT <UE 2 JE TR 0.9268] 0.7166] 0.9950] 1.2599| 1.2437| 1.5686] 1.0310

e Ehe | BT <1 ZIET A8 17 17 15 13 11 3 6
EHTHER<UE 2 4 A HE | 1.274] 1,735 1.456]  701] 1,060]  253] 6,466

BT <L SBT3 1.3343] 0.9798] 1.0302] 1.8544] 1.0377| 1.1857| 1.1753

KJgorT [IEATRH<1F 2SR T A8 47 12 22 23 19 3] 126
BATEE<UE > 45 A H 8 | 5203] 1621] 2237 2483 2,713  263| 14,445

BT <UE 2 JE T 0.9033| 0.7402| 0.9834] 0.9262] 0.7003| 1.1406] 0.8722

it
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DS it SRR =2 o

5?'2:

FF gyl =ul" pln & S =R | B&E | /&t
10445/ N\t EAFIER = 14E 27 36T A8 1,886 925 1,252 1,086 1,261 200] 6,409
ERTHERE = 145 > 4495 A H 8 | 189,806| 102,066| 128,140] 116,369| 132,878| 17,479| 677,729
BTSN = VE SR T 0.9936] 0.9062] 0.9770] 0.9332] 0.9489| 1.1442| 0.9456
1054F/ Nt iSRS = 1E 2 3E T A8 1,929 1,065 1,314 1,274] 1,312 193] 6,907
BT = 145 2> 4895 A H 8 | 196,606 106,304 132,833| 118,798| 135,265| 18,157| 698,416
BT = 1 23R 0.9811] 1.0018] 0.9892 1.0724] 0.9699| 1.0629] 0.9889
1064E/N\at B = 145 27 36 T A8 2,069 1,084] 1437 1246 1,374 2141 7,211
BTSN = 14E 2> 4895 A B 8 | 205,127] 110,283] 137,500] 121,990| 137,183| 19,058] 721,622
BTSN = VE SR T 1.0086] 0.9829 1.0450|] 1.0213| 1.0015| 1.1228] 0.9992
1074E5E1Z A MTISRE = 145 7 SE T A8 500 280 365 322 357 41 1,847
EATIER = 1E > 4 A B | 52,456 28,213 34,896 31,137 34,671 4,872| 183,462
BT = 1 SR 0.9531] 0.9924] 1.0459 1.0341] 1.0296| 0.8415] 1.0067
1074F 5522 |iEFiSRE = 145 2 3R T A8 420 215 277 270 267 37| 1472
EATHERT = 14E > 44 A B8 | 53,025] 28,475| 35,057 30,905 34,844 4,821]| 184,810
BN = VE 2 JE T 0.7920] 0.7550] 0.7901| 0.8736] 0.7662| 0.7674] 0.7964
1074553 |iBIE R = 145 2 36T A8 440 246 255 248 256 451 1,472
BT = 1E > 4 A B | 53,382 28,672 35,173 30,958 34,845 4,813| 185,723
BT = 1FE SR 0.8242] 0.8579] 0.7249] 0.8010] 0.7346] 0.9349] 0.7925
3k

LRI © (EIRE FEEFAE TR I AL - fEIRdmSE © 3 0 1455 ~ £

LERIEE : PTG ER05) ~ K IRE

3 AT

1456

BT = 1EE3E A= CEHUBTHRMIEAT RN SR EZSETEEED X 100,/ CEHUBHRIENT RN SR 14E 2 8 A H B0
T o EHRERNEHHRE 2SR T A -

STEE B = VEEE R ENTE A BN ST IEA R 2
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43I HER ¢ 108/01/22
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BARHDS it SRR =& A

HFEF FrESR BED | BB | WWEEBR | 2
104456/t BRI = 1E 22350 A8 635 1,663 1,602 3,205
ENTHS R = 152> 485 A H 8 66,695 159,837 134,272 327,765
ENTHSR = 1 R0 0.9520 1.0404 1.1931 0.9778
10546/ hst ISR = 1E 22350 A8 675 1,796 1,666 3,456
ENTHS R = 152> 485 A H 8 68,740 165,481 134,377 340,457
ENTHSR = 1 R0 0.9819 1.0853 1.2397 1.0151
10656/ N\st BRI = 1E 22350 A8 691 1,807 1,788 3,647
ENTHS R = 152> 485 A H 8 71,050 168,007 138,079 355,232
ENTHSR = 1R 0.9725 1.0755 1.2949 1.0266
1074655128 IFEAn i = LE 2 3B T A8 157 409 455 909
FENTHERE = 1522 485% A 58 18,259 42,506 35,182 90,555
FENTIERE = 1 FE R 0.8598 0.9622 1.2932 1.0038
1074655228 |iaA i = L4E 2 3B - A8 124 352 330 713
FENTHERE = 1522 485% A 58 18,267 42,602 35,520 91,143
FENTIERE = 1 2 FE R 0.6788 0.8262 0.9290 0.7822
107453 [EISR = LE 23R 0 A 133 308 361 721
FENTHERE = 1522 485% A 58 18,362 42,728 35,526 91,516
FENTIERE = 1 FE R 0.7243 0.7208 1.0161 0.7878
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DS s RSt SRR Z1E L o F

FF R il ik | Jt&E | & | & | 88 | HE | /st
1044F/\aT B &2 b, BEMTHERS = 182 27 FE T A8 300 37 113 35 111 41 635
BEATIER = VE > 489 A H 8 | 25,835| 6,495| 10,974] 5,484 15,500] 2,465| 66,695

BT = VE IR % 1.1612] 0.5696] 1.0297| 0.6382| 0.7161| 1.6632] 0.9520

IR EE R A FTHSRE = 14E 7 SE T A8 434 303 320 284 280 48] 1,663

BT = 1E > 48 A HE | 42,597| 26,769] 29,991 30,201| 26,401 4,182 159,837

BT = 1 23T 1.0188| 1.1319] 1.0669| 0.9403| 1.0605| 1.1477| 1.0404

by AR = 14 2 36T A8 381] 323 384 218] 271 40| 1,602
EATHERY = 14E > 445 A 58 | 29,690] 34,186] 32,798 15,811| 19,368 2,879| 134,272

EHTHER = VE IR % 1.2832] 0.9448| 1.1708| 1.3787| 1.3992| 1.3893| 1.1931

HE2h | BhisE = 1E 2 3E0 A 960 333 567 616 699 103] 3,205
ETHERS = 14E > 485 A H#E | 93,376| 35,588| 55,504] 65,529] 72,761 8,308| 327,765

BT = 1 23T 1.0281] 0.9357| 1.0215| 0.9400] 0.9606| 1.2397| 0.9778

1054F/\aT |E2&2 b, BEMTHERT = 142 27 3R T A8 269 52 146 44 120 45 675
BTSRRI = VE > 48 A H 8 | 25,738] 6,518] 12,188 5,820] 15,891] 2,663| 68,740

BN = VE 2 JE T & 1.0451] 0.7977] 1.1978| 0.7560] 0.7551| 1.6898] 0.9819

I B EFTHSRE = 14E 27 SE T A8 418 338 342 362 287 54| 1,796

BT = 1E > 485 A H 8 | 43,889] 27,629] 31,141 32,399| 26,525 4,192| 165,481

BT = 1 SR 0.9524] 1.2233| 1.0982| 1.1173| 1.0819| 1.2881| 1.0853

HEsE e B = 14 27 26T A 371 397 373 226 271 44 1,666
EATHER = 14E > 44 A 5 | 27,658| 36,300] 33,241 15,331| 19,202 3,158| 134,377

BN = VE 2 JE T & 1.3413| 1.0936] 1.1221| 1.4741] 1.4113] 1.3932| 1.2397

Higz2rn EmEE = 1FE 2 3E0 A8 1,039 367 586 718 729 88| 3,456
EHTHERE = 145 2> 4495% A H 8 | 100,959| 36,694] 57,374 65,813| 74,765 8,525 340,457

BT = 1 SR 1.0291| 1.0001] 1.0213| 1.0909] 0.9750] 1.0322| 1.0151

1064E/\aT |E2&2 b, BEMTHERT = 182 27 FE T A8 273 37 148 47 134 53 691
BT = VE > 48 A H 8 | 26,999 6,471| 12,918] 6,041] 15,867 2,831] 71,050

BT = VE 2 JE T 1.0111] 0.5717| 1.1456| 0.7780] 0.8445| 1.8721] 0.9725

IR EE e AR = 14F 2 36T A 8K 469 315 340 361 274 54| 1,807

BT = 1E > 485 A H 8 | 44,809] 28,851] 30,947] 32,929] 26,332 4,432 168,007

BT = VFE ST 1.0466] 1.0918| 1.0986| 1.0962| 1.0405| 1.2184] 1.0755

IS EMISR = 1422360 A 376 419 451 242 273 50 1,788
BEATIER = VE 2> 48 A H 8 | 27,411 37,793| 34,746] 15,698] 19,366] 3,508| 138,079

BT = VE 2 JE T 1.3717] 1.1086] 1.2979| 1.5415| 1.4096| 1.4253] 1.2949

Higz2rn BRI = 1FE 2380 A8 1,113 398 636 683 796 101] 3,647
AR = 145 2> 485 A H % | 107,367| 38,092] 60,114] 67,984] 76,813 8,656| 355,232

BT = VFE ST 1.0366| 1.0448| 1.0579| 1.0046| 1.0362| 1.1668| 1.0266

1071 B2 0, BEMTIRRE = LE27 3R T A8 67 15 40 11 18 6 157
BRI = 14F 2> 489 A\ 5 8 7,011 1,622 3,331 1,533 3,974 800] 18,259

IEMTHSE] = VFE 2 JE T 0.9556] 0.9247| 1.2008] 0.7175| 0.4529] 0.7500] 0.8598

I B EFTHSRE = 14E 2 3ET A8 109 69 68 73 76 14 409
BEATIER = 1E 2> 48 A H 8 | 11,333] 7,459 7,650 8,333] 6,606] 1,206] 42,506

BT = LFE 2 SR 0.9617| 0.9250| 0.8888| 0.8760| 1.1504]| 1.1608| 0.9622

WG EERE BT ISR = 1 22 98 T A8 74 111 114 66 74 16 455

BRI = 14F 2 489 A\ H 7,018] 9,476 8,828 4,105 4,926 945] 35,182

BN = VFE 2 JE T 1.0544] 1.1713| 1.2913| 1.6077] 1.5022| 1.6931] 1.2932

Higzrn AR = 1F 22360 A8 270 97 166 179 194 11 909
EATIRR = VE > 48 A HE | 27,487] 9,901 15,385| 17,332| 19,455] 2,175| 90,555

BT = 1FE SR 0.9822| 0.9796| 1.0789| 1.0327] 0.9971]| 0.5057| 1.0038

INEEVES EEEN N S e AN ot 57 8 24 12 19 5 124
BRI = 145 2> 489 A\ H 8 7,036] 1,622 3,362 1,543 4,006 713 18,267




BT = VE R % 0.8101] 0.4932| 0.7138] 0.7777| 0.4742| 0.7012] 0.6788

IR EE P BT = LE 23T A B 77 53 77 73 65 8 352
B = 1E > 48m A 58 | 11,444 7,479] 7,689 8,349 6,591 1,117| 42,602

EHTHERE = 1 2 JET % 0.6728| 0.7086] 1.0014| 0.8743| 0.9861]| 0.7162] 0.8262

el EMTIGR = 1 2 36T A8 71 74 74 48 49 14 330
EAFTHERE = 14F 2> 4895 A\ B 8 7,130 9,541 8,871] 4,113] 5,067 914] 35,520

BT = VE IR % 0.9957| 0.7756| 0.8341| 1.1670] 0.9670| 1.5317] 0.9290

HEg2pr [EHiSR = 14 27 35T A8 232 84 111 145 138 13 713
BT = 1E > 48 A HE | 27,776] 10,041] 15,450] 17,127| 19,505 2,170] 91,143

EHTHERE = 1 2 JET % 0.8352| 0.8365| 0.7184| 0.8466| 0.7075| 0.5990] 0.7822
1074E5E3F 8228 ), EIER = LEE 22 R A8 56 10 23 11 24 9 133
EAFTHERE = 145 2> 48955 A\ B 8 7,112 1,629 3,323] 1,592] 4,012 701] 18,362

BT = VE IR % 0.7874] 0.6138] 0.6921| 0.6909| 0.5982| 1.2838] 0.7243

Sk EE 7 EMTHERE = 1E 23R T A8 86 52 60 53 49 8 308
B = 1E > 48m A 5 | 11,521 7,557 7,730] 8,309 6,563 1,119] 42,728

EHTHERE = 1E RT3 0.7464] 0.6881] 0.7761] 0.6378| 0.7466| 0.7149] 0.7208

Hy Bl EMTHERE = 1E 23R A8 95 107 59 42 42 16 361
ERFTHERE = 145 2> 489 A\ B 8 7,108] 9,515 8,932] 4,123] 5,060 897| 35,526

BT = VE 2 JE T & 1.3365| 1.1245] 0.6605| 1.0186] 0.8300] 1.7837| 1.0161

Hig2rn A = 14E 22360 A8 219 81 125 150 142 15 721
ETHERS = 1E > 445 A H 8 | 28,052| 10,181] 15,469] 17,071| 19,501 2,163| 91,516

EHTHERE = 1E 2 RT3 0.7806] 0.7955| 0.8080| 0.8786| 0.7281]| 0.6934] 0.7878
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F D] ST ¥ &R - 9 39 (Albumin)

FF pagill =pln JEl& & B & =5 K& /N&t
e [ 28 21 27 19 17 5 117
Albumin-f& s FE % 99.51%)| 100.00%| 99.93%| 99.53%| 99.68%| 100.00%| 99.69%
Albumin(BCG) % # 23 19 18 19 17 5 101
Albumin(BCG)F45{H 3.6957| 3.8071] 3.7434] 3.7063] 3.7249] 3.6862| 3.7265
Albumin(BCG)=3.57 F 4yt | 86.56%| 90.69%| 88.94%| 87.41%| 88.06%| 82.61%| 87.93%
Albumin(BCP)Zz 84 6 2 9 3 0 1 21
Albumin-*F-+5{& (BCP) 3.2085] 3.1733] 3.2935] 3.1385| 0.0000] 3.0691] 3.2299
Albumin(BCP)=3.07 F 43tk | 85.53%| 96.15%| 90.48%| 81.72%| 0.00%| 77.78%| 86.44%
1055/ Nat |BEpE 28 20 27 19 16 4 114
Albumin-f& g FE % 99.03%| 99.89%| 99.35%| 99.25%| 98.83%| 97.78%| 99.17%
Albumin(BCG)Z% 23 18 18 19 16 4 98
Albumin(BCG)-F15{H 3.7036| 3.7989] 3.7062| 3.7244] 3.7342| 3.7448] 3.7277
Albumin(BCG) =35> F 45yt | 85.14%| 90.88%| 87.74%| 88.48%| 88.00%| 89.39%| 87.55%
Albumin(BCP)Zz & 6 2 9 0 0 0 17
Albumin-3Z#4{g (BCP) 3.2310] 3.2196] 3.2217] 0.0000] 0.0000] 0.0000] 3.2267
Albumin(BCP)=3.07 547kt | 86.93%] 83.33%| 90.88%| 0.00%| 0.00%| 0.00%| 88.41%
10646/ s [epri 28 21 29 19 17 4 118
Albumin-f& s L% 98.98%| 99.23%| 99.07%| 98.59%| 98.69%| 99.33%| 98.94%
Albumin(BCG) 57 23 19 20 19 17 4 102
Albumin(BCG)F15{H 3.7322| 3.8049] 3.7111] 3.7005] 3.7053| 3.7419] 3.7279
Albumin(BCG) =35 FH 457tk | 86.69%| 89.03%| 88.13%| 87.05%| 88.20%| 90.54%| 87.75%
Albumin(BCP)Zz & 7 2 9 0 0 0 18
Albumin-3Z#4){g (BCP) 3.2938] 3.0938] 3.2787] 0.0000] 0.0000] 0.0000] 3.2810
Albumin(BCP)=3.07 E 43tk | 89.07%| 75.00%| 92.11%| 0.00%| 0.00%| 0.00%| 89.91%
1074 F 517 [T 26 18 28 18 17 3 110
Albumin-f& 2 bE % 94.38%| 97.28%| 98.77%| 97.30%| 98.82%| 91.74%| 96.78%
Albumin(BCG) 57 22 16 19 17 17 3 94
Albumin(BCG)F41H 3.7918] 3.7900] 3.7338] 3.7256] 3.7376] 3.8099] 3.7604
Albumin(BCG)=3.57 5 4yEE | 80.99%| 83.13%| 81.86%| 79.30%| 80.59%| 84.68%| 81.16%
Albumin(BCP)Zz & 5 2 9 1 0 0 17
Albumin-Z5{g (BCP) 3.1234] 3.1053| 3.2743] 3.2750] 0.0000] 0.0000] 3.2011
Albumin(BCP)=3.0 5 45yEE | 74.30%| 76.47%| 81.71%| 80.00%| 0.00%| 0.00%| 78.08%
1074 F 5278 |FRATE 27 20 28 18 16 3 112
Albumin-f& 2 bE% 98.93%| 99.75%| 98.86%| 96.88%| 98.54%| 97.52%| 98.62%
Albumin(BCG) 57 22 18 19 17 16 3 95
Albumin(BCG)F41H 3.7494] 3.7901] 3.7303| 3.7341] 3.7168] 3.7689] 3.7435
Albumin(BCG)=3.57 F4yEE | 77.00%| 80.87%| 80.56%| 79.16%| 78.28%| 79.66%| 78.81%
Albumin(BCP)Z7 & 5 2 9 1 0 0 17
Albumin-3Z4){g (BCP) 3.3159] 3.1165] 3.2818] 3.0300] 0.0000] 0.0000] 3.2768
Albumin(BCP)=3.0 5 45yEE | 79.31%| 70.59%| 84.27%| 65.00%| 0.00%| 0.00%| 80.17%
1074F 537 |FRATE 28 18 29 18 16 3 112
Albumin-fg 2 bE2R 99.11%| 98.44%| 98.89%| 97.63%| 98.70%| 96.75%| 98.64%
Albumin(BCG) 57 23 17 22 17 16 3 98
Albumin(BCG)34{H 3.7299] 3.7751] 3.6878] 3.7043] 3.7013| 3.8126] 3.7206
Albumin(BCG) =35 F457EE | 78.05%| 82.96%| 77.50%| 78.98%| 78.13%| 86.55%| 78.96%
Albumin(BCP)Z7 & 5 1 7 1 0 0 14
Albumin-34){g (BCP) 3.3485] 2.9857] 3.2270] 3.1286] 0.0000] 0.0000] 3.2778
Albumin(BCP)=3.0> 5 45yEE | 80.43%| 57.14%| 81.06%| 76.19%| 0.00%| 0.00%| 80.07%
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FBPD] S 47 Y & A F 9 v (Albumin)

HEF Rl B2 | BB | HERT | BEER2E
1045/ Ne T |BER e 19 67 19 12
Albumin-f & bE% 99.72% 99.63%| 100.00%|  100.00%
Albumin(BCG)Zz % 18 58 13 12
Albumin(BCG)E51{H 3.7173 3.7352 3.7871 3.7578
Albumin(BCG)=3.5 FH47EE 86.88% 88.54% 93.41% 95.52%
Albumin(BCP) ¢ 8 2 11 6 2
Albumin-3}-$5{¢ (BCP) 3.3153 3.2163 2.9867 3.9429
Albumin(BCP) =3.07 47 EE 89.72% 86.64% 68.42%|  100.00%

1054/ h\at  |BeprE 19 69 17 9
Albumin-f & bE% 99.28% 98.92%|  100.00%|  100.00%
Albumin(BCG)Zz 18 60 11 9
Albumin(BCG)F51{H 3.7297 3.7188 3.8072 3.7939
Albumin(BCG)=3.5" 54y LL 86.44% 88.69% 89.24% 98.11%
Albumin(BCP) 57 1 10 6 0
Albumin-3F-$5{¢ (BCP) 3.2539 3.2570 2.9605 0.0000
Albumin(BCP)=3.0" i 47EL 93.16% 88.57% 73.02% 0.00%

1064/ N\at  |BeprE 19 69 20 10
Albumin-f & bE% 99.27% 98.55% 97.45% 98.67%
Albumin(BCG)Zz 18 60 14 10
Albumin(BCG)F51H 3.7154 3.7410 3.8005 3.7628
Albumin(BCG)=3.5" 54y LL 87.31% 87.85% 89.16% 97.30%
Albumin(BCP) ¢ 1 11 6 0
Albumin-3F$5{g (BCP) 3.2836 3.3028 3.1295 0.0000
Albumin(BCP)=3.0> FH47EE 92.27% 89.69% 84.13% 0.00%
1075515 (A 19 63 19 9
Albumin-fg 2 Hh% 98.88% 94.35% 91.63%|  100.00%
Albumin(BCG)Z &5 18 54 13 9
Albumin(BCG)F51H 3.7650 3.7506 3.7949 3.7750
Albumin(BCG)=3.5" 47 ER 81.15% 80.55% 87.84% 85.94%
Albumin(BCP)Z: 1 10 6 0
Albumin-3$5{¢ (BCP) 3.2989 3.1607 3.1450 0.0000
Albumin(BCP)=3.0> FH47EE 82.74% 76.23% 75.00% 0.00%
10745522 |BepTi 19 66 18 9
Albumin-fg 2 Hh% 99.17% 97.96% 97.40%|  100.00%
Albumin(BCG) % &4 18 56 12 9
Albumin(BCG)EH51{H 3.7427 3.7456 3.7325 3.7397
Albumin(BCG)=3.5" 4y EE 77.68% 80.28% 78.79% 85.71%
Albumin(BCP)Z: 1 10 6 0
Albumin-3$5{g (BCP) 3.3155 3.2844 3.1215 0.0000
Albumin(BCP)=3.0> F47EE 87.50% 77.66% 75.00% 0.00%
10745537 |Fepi 19 67 18 8
Albumin-fg & FE% 99.08% 98.37% 97.95% 88.33%
Albumin(BCG) % & 18 59 13 8
Albumin(BCG)EH51{H 3.7153 3.7328 3.6434 3.8189
Albumin(BCG)=3.5" 4y EL 77.79% 81.03% 71.81% 90.57%




Albumin(BCP) % 1 8 5 0
Albumin->F#5{g (BCP) 3.2606 3.3155 3.0871 0.0000
Albumin(BCP)=3.0>7 54y tE 84.12% 79.46% 70.59% 0.00%
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$EPD3 A4t R & -Hb

HFEF SR =8lr Jt& H& B & = 5 K& /Nat
1044/t |BefrEs 26 18 25 19 16 5 109
Hb-# 2 FE% 99.70%| 100.00%| 99.86%| 99.44%| 99.71%| 100.00%| 99.74%
Hb-2E4){H 10.5066] 10.5924] 10.2326] 10.3363] 10.3549] 10.3453| 10.4146
Hb>8.50/dL F54yEE | 97.72%|  97.32%| 97.15%| 96.80%| 96.98%| 96.23%| 97.29%
10545/t |BefrEs 28 17 26 19 16 3 109
Hb-# 2 FE% 99.08%| 99.80%| 99.57%| 99.23%| 98.46%| 93.88%| 99.10%
Hb-2E5){H 10.3067] 10.3908] 9.9425| 10.2151] 10.2170] 9.9874] 10.2181
Hb>8.50/dL B545yEE | 97.22%|  97.77%| 95.96%| 97.48%| 97.44%| 97.83%| 97.14%
1064/ et B 27 19 27 18 17 4 112
Hb-# 2 FE% 99.03%| 99.27%| 99.03%| 98.51%| 98.50%| 100.00%| 98.93%
Hb-E 35 {E 10.3028] 10.3286| 10.0547| 10.0748| 10.1527] 10.3785] 10.2002
Hb>8.5g/dL > FH47EE | 96.75%|  97.99%| 97.63%| 96.03%| 96.67%| 94.23%| 97.03%
10745512 B 25 16 26 16 16 3 102
Hb-# 2 FE% 93.62%| 97.06%| 98.53%| 97.44%| 98.87%| 86.67%| 96.46%
Hb-E 35 10.3503] 10.2914] 9.9663| 10.0274| 10.1194] 10.3128] 10.1779
Hb>8.5g/dL > F547EE | 90.81%|  90.93%| 87.04%| 89.50%| 89.90%| 97.44%| 89.83%
1074EEE2F |Fpmsy 26 18 26 15 16 3 104
Hb-# 2 FE% 99.35%| 99.80%| 98.70%| 96.70%| 98.56%| 95.74%| 98.72%
Hb-E 35 {E 10.4982| 10.4558] 10.2058| 10.1586| 10.2684] 10.2652| 10.3439
Hb>8.5g/dL > FH47EE | 91.99%| 91.31%| 90.95%| 89.34%| 88.65%| 95.56%| 90.75%
1074EE53F |Fpmsy 27 17 28 15 16 3 106
Hb-# 2 FE% 90.17%| 98.36%| 98.89%| 98.17%| 98.72%| 94.00%| 98.69%
Hb-E 35 {E 10.5076] 10.5756| 10.1205| 10.1048| 10.2254] 10.2298] 10.3303
Hb>8.5g/dL> F547EE | 91.74%|  92.28%| 88.89%| 90.04%| 91.25%| 91.49%| 90.94%
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(DI EEER=7 B AN EH NBU ISR BUEN TR AR - fEIRmSE © 2 1965 ~ £+ 1995 -

() P {E=F R Hb IR (E 2 SN/ FR S Hb R BR (E R Y0 #8288y - E1E4RTE © =8 ¢ 2038 ~ 4 & 2059 -
(3)>8.5¢/dLZ 15 53 EE=57 BHI AN EHb>8. 5g/dL2 NBU/ IS MEREREEMTH A NEHb AR - FEERmSE © 2 ¢ 1967 ~ £+ 1997 -
¥ TIBMENTRA ) EFR ¢ AKEUEE 0 ST o WA E H P IR E R A -
MPFFRIEAE R AR ROA e B R IR M L (At g 1)

*ATEFEEE R 10255 - HURUR MUREEATHet H R

4. B3 HHEA: 108/01/22

SEEREAL - AR P R RS




47 1PD3 *

LS 178t % -Hb

HFEF &R BEG, | BBk | WEBR | EE2Hh

1044/ NxF e 19 65 16 9
Hb-f b 99.77% 99.67% 100.00% 100.00%
Hb-F51E 10.4250 10.4180 10.3949 9.8226
Hb>8.5g/dL" 547 EE 97.14% 97.40% 95.73% 100.00%

1054/ N\sF |Beprdg 19 66 16 8
Hb-f & b 99.03% 99.12% 100.00% 100.00%
Hb-FH5{E 10.1921 10.2535 10.3785 9.6934
Hb>8.5g/dL" 547 EE 96.84% 97.55% 96.23% 96.15%

1064E/N\sF  |Beprdg 19 66 17 10
Hb-fg & FE% 99.24% 98.51% 97.52% 98.18%
Hb-FH51E 10.1735 10.2398 10.3156 9.9357
Hb>8.5g/dL>" 5 47EL 96.97% 96.91% 97.46% 94.44%

T e [ 19 60 15 8
Hb-fg & FE% 98.72% 93.65% 89.00% 100.00%
Hb-FH51E 10.2157 10.1279 10.4584 9.3250
Hb>8.5g/dL>" 5 47EL 89.94% 90.08% 89.89% 77.50%

1074655228 |Befnil 19 62 15 8
Hb-fg & FE% 99.16% 98.15% 97.37% 100.00%
Hb-F5{E 10.3611 10.3190 10.3694 10.2528
Hb>8.5g/dL>" 5 47EL 91.19% 90.28% 90.09% 86.11%

10745537 ey 19 63 17 7
Hb-g & FE% 98.96% 98.69% 99.15% 82.35%
Hb-E5{E 10.3522 10.3067 10.3034 10.0321
Hb>8.5g/dL” 5 47EL 90.68% 91.64% 87.93% 89.29%
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pPDS WA _SEPRER <1E2Z 72 K

FF pal= il it | B | 7& | & | @F | FE | /Nt
1044E/Na T BT EI<VE 2SR T A B 29 6 13 5 10 2 65
BRI <L 2 4895 A H B 5,185] 1,598] 2,589 1,653] 2,496 279 13,798
BT <LV 2R T 0.5593] 0.3754] 0.5021] 0.3024] 0.4006] 0.7168] 0.4710
1054E/Net BT EI<VE 2SR T A B 29 6 12 11 8 1 66
BRI <L 2 4895 A H B 4,858] 1,681 2,711} 1,975] 2,456 296| 13,977
BT <L 2R T 0.5969] 0.3569] 0.4426] 0.5569] 0.3257] 0.3378] 0.4722
1064E/NaT BN EI<VE 2 AR T A B 24 8 17 8 11 1 69
BRI <L 2 4895 A H B 4,284 1,937 2,780 1,733] 2,352 313 13,398
BT <L 2R T 0.5602] 0.4130] 0.6115] 0.4616] 0.4676] 0.3194] 0.5150
1074E 5513 BT RA<1EE 23R T A8 5 2 3 1 0 0 11
BT <L 2 489 A H 8 1,046 500 863 408 546 69] 3,432
BTG EI<VE RT3 0.4780] 0.4000] 0.3476] 0.2450] 0.0000] 0.0000] 0.3205
10745525 A< LE 2SR T AL 0 2 2 1 0 0 S
BT <L 2 489 A H 8 1,046 461 873 410 492 65| 3,347
BTG <VE RT3 0.0000] 0.4338] 0.2290] 0.2439] 0.0000] 0.0000] 0.1493
1074E 5533 BT RA<1EE 23R T A8 9 2 3 2 1 0 17
BT <L 489 A H 8 1,107 431 890 387 449 62] 3,326
BTG <VE RT3 0.8130] 0.4640] 0.3370] 0.5167] 0.2227] 0.0000] 0.5111
st
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2EREIE - PR EMT G ER05) ~ KORE
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R EPDS ST BT RF <lE2 - F
HFEF &R BB | BB | WEBR | BEEZ2h
1044/ Nt AR <L 2 SR T A3 27 34 4 0
TSR <14 > 445 A 8 7,023 6,208 531 37
FEHTHEREI<LE 2 FE TR 0.3844 0.5476 0.7532 0.0000
1054/ Nt A <L 2 SR T A8 26 39 1 0
TSR <14 445 A H 8 7,099 6,313 554 11
FEHTHERI<LE 2 R R 0.3662 0.6177 0.1805 0.0000
1064/ Nt A <L 2 SR T A8 22 42 5 1
TSR <14 445 A H 8] 7,304 5,483 561 52
EHTHERE<LE > FET R 0.3012 0.7660 0.8912 1.9230
107455 12F A <1AE 2 5B T A8 3 7 1 0
TSR <14 2 &% A 8 1,825 1,369 222 16
EHHERE<LE > FET R 0.1643 0.5113 0.4504 0.0000
1074E5522F |IEA I <1AE 2 5B T A8 0 2 3 0
ERTHERT <145 2> 485 A 8¢ 1,718 1,394 222 13
FEHTHERE<LE > FE TR 0.0000 0.1434 1.3513 0.0000
1074E5532F IIEA I E<1AE 2 5B T A8 8 8 1 0
BT <1 2 489 A\ 5 E 1,697 1,369 243 17
EHHERE<LE > FET R 0.4714 0.5843 0.4115 0.0000
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BT < 1FSET %= CGEHHARENT/INAFEZIECTEZRED) X 100, CEHHARTIEN T/ INA 1 2 4855 A 3 #)
F L o EHRE RS TEAR 2SR T B -
SrBE  ENTEERE < UEAIIEMEENTR A BN E R A R M2 R AN T — B S 2 A HE -
X TREMENTEA L EE B HIsET > S EE3E A RRIT2 BN G ZE A -

4 BIFHHEA ¢ 108/01/22

SEIREAL © wEEA R O R R




FRPDS ML SR <& 25

EF kbl SR aglt | JtE | +E | BE | 88 | EE | /&t
1045F/ Nt B8R L BT R <LEE 2 FE T A 13 2 7 0 3 2 27
ENTHR <1 a8 A HEg | 2,996] 592] 1,407  496] 1,398 135] 7,023

EITERE <1 2 FE TR 0.4339] 0.3378] 0.4975| 0.0000] 0.2145] 1.4814] 0.3844

BT AT <L 2SR T AL 16 3 5 5 5 0 34
ETE R <1E > 48 A B# | 2,136 7771 1,027] 1,108] 1,016 144] 6,208

ENTHSR<1E IR & 0.7490] 0.3861| 0.4868| 0.4512| 0.4921] 0.0000] 0.5476

il B P AT <1 2 SE T A S 0 1 1 0 2 0 4
BT RE <1452 48 A B 8 53]  218] 140 49 71 of 531

EITERE <1 2 FE TR 0.0000] 0.4587] 0.7142] 0.0000| 2.8169] 0.0000] 0.7532

FIg2 P BT <1E 23R T ABL 0 0 0 0 0 0 0

BT <14 2 489 A\ HEL 0 11 15 0 11 0 37

BRI <1 2 RT3 0.0000] 0.0000] 0.0000] 0.0000] 0.0000]| 0.0000] 0.0000

1054/ Nt |B8 8L B HTH R <1E 2 IE T A B 13 0 8 3 1 1 26
ENTERR<1E g% A g | 2,632 743] 1,573 663 1,324] 164 7,099

BT <LE > FET & 0.4939] 0.0000] 0.5085| 0.4524] 0.0755] 0.6097| 0.3662

BT AT <1 2SR T AL 15 6 4 8 7 0 39
E<1E 4 A B8 | 2,170 721] 916 1,312 1,062 132 6,313

BRI <1 2 JET % 0.6912| 0.8321| 0.4366| 0.6097| 0.6591] 0.0000] 0.6177

I BERT [FENTHS R <1 2 3BT ABL 1 0 0 0 0 0 1
BT RE < 145 48 A B 8 56| 212 217 0 69 of 554

BT <LE 2 FET & 1.7857| 0.0000] 0.0000] 0.0000] 0.0000] 0.0000| 0.1805

g2 P BT RE<1E 23R ABL 0 0 0 0 0 0 0

TR <A 2 88955 A H 81 0 5 5 0 1 0 11

BRI <1 2 RT3 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000

1064/ Nat |EE Bt BT R <L 23T A 8 1 5 1 6 1 22
AR R<1E 45w A HEg | 2453 830] 1,817 674 1,329] 201 7,304

BT <LE 2 JET & 0.3261] 0.1204] 0.2751| 0.1483| 0.4514] 0.4975] 0.3012

BT AT <L 2SR T AL 16 5 9 7 5 0 42
ER<1E > 4 A B8 | 1,807 821 755 1,059 929 112] 5,483

BRI <UAFE 2 JET % 0.8854] 0.6090| 1.1920] 0.6610] 0.5382| 0.0000] 0.7660

HlEBE R AT R <1 2 5B AL 0 2 3 0 0 0 5
BT RE < 145 48 A H 24] 287 167 0 83 of 561

BT R<LE > JET & 0.0000] 0.6968] 1.7964] 0.0000] 0.0000] 0.0000] 0.8912

FIg2 P BT <1 23R T AL 0 0 1 0 0 0 1
TR <A 2 889 A\ H 8 0 0 41 0 11 0 52

BRI <UAFE 2 JET % 0.0000] 0.0000| 2.4390] 0.0000] 0.0000| 0.0000] 1.9230

1074551 R B B2 b0 A S <1 2 R T AL 0 0 2 1 0 0 3
NI R <1EE > 4895 A 85 504] 193] 558 139 294 471 1,825

BT <LE 2 JET & 0.0000] 0.0000] 0.3584] 0.7194] 0.0000] 0.0000] 0.1643

IR fe BT <1 2 FE T AL 5 2 0 0 0 0 7
TS <L 2> 48% A H 8 451 222 179]  269] 226 22| 1,369

BRI <14E 2 JET % 1.1086] 0.9009] 0.0000] 0.0000] 0.0000] 0.0000] 0.5113

R BE R AT R <1E 2 5B AL 0 0 1 0 0 0 1

BT <1452 485 A B 8 1 83| 112 0 26 of 222

BT <LE 2 JET & 0.0000] 0.0000] 0.8928| 0.0000] 0.0000] 0.0000] 0.4504

FIg2 AT BT <L 23R T AL 0 0 0 0 0 0 0

FEHTH <L 2 480% A\ HEL 0 2 14 0 0 0 16

BRI <UAFE 2 JET % 0.0000] 0.0000] 0.0000] 0.0000] 0.0000| 0.0000] 0.0000

10745522 (B E2 0y A <L 2 SR T A B 0 0 0 0 0 0 0
NI R <1EE > 489% A 5 8 562 173 568 128] 253 34| 1,718




BT <UE 2 JE 0% 0.0000] 0.0000f 0.0000] 0.0000f 0.0000f 0.0000f 0.0000
Wik B e AR <1 2SR T A8 0 0 1 1 0 0 2
BT <L > 4895 N H 8y 476 214 177]  282] 214 31] 1,394

BT <UE 2 SE TR 0.0000] 0.0000f 0.5649] 0.3546| 0.0000] 0.0000f 0.1434

sl Bl BT <1F ZSET A8 0 2 1 0 0 0 3
BT R<LUAE 2 4895 A\ H 8L 8 70l 119 0 25 0 222

BT <UE 2 JE 0% 0.0000] 2.8571f 0.8403] 0.0000f 0.0000f 0.0000f 1.3513
G2 A | BT <UE 26T AR 0 0 0 0 0 0 0
BITHFE<IF 2 S0 A\ 8 0 4 9 0 0 0 13

BT <UE 2 JE TR 0.0000] 0.0000f 0.0000] 0.0000f 0.0000f 0.0000f 0.0000
10745535 [Bd Sl | EMTHRFEI<14E Z 3BT A B 5 1 2 0 0 0 8
BT <L 2 4855 A\ H 8 570 169  557]  132] 235 34| 1,697

BT <UE 2 JE 0% 0.8771] 0.5917| 0.3590] 0.0000f 0.0000] 0.0000f 0.4714
s bt | AT <1 Z 3BT A 4 1 0 2 1 0 8
BT <L > 4895 N H 8y 524 194 176 255 192 28] 1,369

BT <LE 2 JE TR 0.7633] 0.5154] 0.0000] 0.7843| 0.5208| 0.0000| 0.5843

sl Ble [T <1F ZSET A8 0 0 1 0 0 0 1
BT < LA 2 4855 A\ H B 13 62] 146 0 22 0] 243

BT I<UFE LR 0.0000] 0.0000f 0.6849] 0.0000f 0.0000f 0.0000f 0.4115
g2 pr (i<l 2T A8 0 0 0 0 0 0 0
BT <1 2 S8 A\ HE 0 6 11 0 0 0 17

BT <UE 2 JE TR 0.0000] 0.0000f 0.0000f 0.0000f 0.0000f 0.0000f 0.0000
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3

pHEPDS AT SR 12502 F
FE Sy& alt | k& | H& | & | Sk | K& | /&t
104F/Nst B ESR = 1FE 2 95T A8 166 65 85 59 68 11 453
ISR = 1 2485w A 5 | 21,392 8,044| 12,277 9,986 11,025 1,167] 63,891
ENTHEE] = 1 2 IR TR 0.7759] 0.8080] 0.6923] 0.5908] 0.6167| 0.9425] 0.7090
1054F/ et |EETHEE = 1 23T A8 162 59 91 68 68 5 451
EMMISR = 1 248w A HE | 21,868 7,877 12,161 9,832 11,463] 1,170] 64,371
BT = 14 2 FE T3 0.7408] 0.7490] 0.7482] 0.6916] 0.5932| 0.4273] 0.7006
106F/N\et B ESR = 1 2 9E T A8 165 53 80 75 84 13 469
HEMTISR = 1 2 485w A H 8 | 21,997 7,753| 12,024| 10,059| 11,682 1,224| 64,738
BENTHEE] = 1 2 IR T3 0.7501] 0.6836] 0.6653] 0.7456] 0.7190] 1.0620] 0.7244
107FE1E BEMEER = 1E 23T A AE 27 11 19 21 12 1 91
IHEFTHF ] = 14 2 4895 A H 85 5437 1,941 2,981 2,475] 2,900 308] 16,042
BT = 148 2 SE T % 0.4965| 0.5667| 0.6373| 0.8484| 0.4137] 0.3246] 0.5672
10745562 iEMHER = 1E 2360 A8 27 11 10 8 10 1 67
FEFTHF ] = 14E 2 4895 A 3 %5 5434] 2,019] 3,012 2,485 2,929 318| 16,196
IETHFE] = 1 2 JE TR 0.4968] 0.5448] 0.3320] 0.3219] 0.3414] 0.3144] 0.4136
107553 F AR = 1E 23T A 24 8 17 11 17 0 77
IHEFTHF ] = 14 2 4895 A H 851 53301 1,995 3,077 2,500 2,914 324] 16,140
BT = 18 2 SE T % 0.4502| 0.4010| 0.5524] 0.4400] 0.5833] 0.0000] 0.4770
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FEPDS  HEEAT SRR zZlE 2 = 5
TF iRl BETO | BEEb | tERb | ZE2H
1045/ et iR = L4E 2 SR 1T A 214 226 10 5
BT = 14E 7 4895 A H B 35,478 25,922 1,786 705
BT = 14E 2 SRR 0.6031 0.8718 0.5599 0.7092
10545/ N\et i = 14E 2 SR 1T A 216 218 18 2
BT = 14 7 489 A H B 35,262 26,771 1,752 586
BT = 1E 2 SRR 0.6125 0.8143 1.0273 0.3412
1065/ N\at iR = 14E 2 SR 1T A 215 234 20 4
BT = 14 7 489 A H 8 35,366 26,820 1,882 670
BT = 14E 2 SRR 0.6079 0.8724 1.0626 0.5970
1075513 | AT = 145 2SR A8 43 44 1 3
AT = LA > 4895 A 3 85 8,796 6,564 492 190
IEATIR I = LEE 2 SRR 0.4888 0.6703 0.2032 1.5789
10745523 | AT = 142 2SR T A8 30 34 2 1
AT = LA > 4895 A 3 85 8,876 6,606 532 183
IEATIR I = LE 2 SRR 0.3379 0.5146 0.3759 0.5464
1074553 | AT = 14 23R T A8 27 44 5 1
AT = LA > 4895 A 3 85 8,877 6,540 553 170
IEATIR I = LEE 2 SRR 0.3041 0.6727 0.9041 0.5882
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S RPDS S SRR =12 A

FF TR pagyill =it | JIE | & | BE | 8F | K& | /Nt

1044E/ st |B2E b, IBATHSRT = 1E 22 3R T A8 83 19 54 20 31 7 214
BTSN = VE 2> 489 A B8 | 12,904 3,978 7,427] 4,228] 6,359 582| 35,478

BTSN = L SR T 0.6432| 0.4776| 0.7270] 0.4730| 0.4874] 1.2027] 0.6031

&I B[ PEMTIER = 145 2 96T A8 81 41 27 38 36 4 226

ETHERE = VE > 425 A H 8| 8,296] 3,235] 4,038] 5,547] 4,243 563| 25,922

BT = 1 23T 0.9763| 1.2673| 0.6686| 0.6850| 0.8484| 0.7104] 0.8718

IE BT AT = L 2 SR T A8 3 4 2 0 1 0 10

EAFTHERE = 145 2> 48955 A 5 8 189 667 471 82 377 o] 1,786

BTSN = VSR 1.5873] 0.5997| 0.4246] 0.0000| 0.2652] 0.0000| 0.5599

B2 [N = E 2SR T A8 0 1 2 2 0 0 5

BT = 14F 2> 4895 A H 3 164 341 129 46 22 705

BT = 1 2 SR 0.0000] 0.6097| 0.5865| 1.5503| 0.0000| 0.0000] 0.7092

1054E/ st |B2Ech ), IEATHSRT = 14E 22 3R T A8 87 22 51 22 32 2 216
EATIER = 1FE 2> 489 A B | 13,070 3,743 7,283] 4,012] 6,559 595| 35,262

BN = VE 2 JE T & 0.6656] 0.5877| 0.7002| 0.5483| 0.4878] 0.3361| 0.6125

I EEfE AR = 1 2 3R T A8 74 28 36 46 32 3| 218

AR = 1E > 485 A H 8| 8,620] 3,338] 4,063] 5,717 4,459 574] 26,771

BT = 1 SR 0.8584| 0.8388| 0.8860| 0.8046| 0.7176| 0.5226] 0.8143

B e BT = 159 2 58T A B 2 8 3 0 5 0 18

ERFTHERE = 145 2> 489 A\ B 8 178 649 517 o] 408 o] 1,752

BTG = VE 2 JE T & 1.1235| 1.2326] 0.5802| 0.0000] 1.2254| 0.0000| 1.0273

R P A = 14 23T A 0 1 1 0 0 0 2

IBATIER = 14F 2> 489 A H 0 147 298 103 37 1 586

BT = 1 SR 0.0000] 0.6802| 0.3355| 0.0000] 0.0000| 0.0000] 0.3412

10645/ Net |B2E2 b, PEMTIRR = 1827 56T A8 81 16 40 31 40 7 215
BRI = 145 2> 449 A H 8 | 13,101] 3,605] 7,335 4,098 6,570 657| 35,366

BTG = VE 2 JE T 0.6182| 0.4438] 0.5453| 0.7564| 0.6088] 1.0654| 0.6079

I B[ PEMTISR = 145 7 9B T A8 84 28 33 44 39 6 234

EH RS = UE > 48 A HE | 8,726] 3,398] 3,631] 5,889] 4,610 567| 26,820

BT = VFE ST 0.9626] 0.8240| 0.9088| 0.7471] 0.8459] 1.0582| 0.8724

GBS T AT = 14 25T A 0 8 7 0 5 0 20

ERTHERE = 145 2> 489 A\ H 8 170 622 621 of 469 o] 1,882

BT = L 29T 0.0000] 1.2861| 1.1272] 0.0000] 1.0660| 0.0000] 1.0626

g2 P BT = 14 2 3E T A 0 1 3 0 0 0 4

BT = 14F 2> 489 A H 0 128] 437 72 33 0 670

BT = 1FE 2 ST 0.0000] 0.7812| 0.6864| 0.0000] 0.0000| 0.0000] 0.5970

1074F 25 12F | B2 s BRI R = V238 T A8 16 4 11 5 6 1 43
BT = 14 > 48 A HE | 3,214 904] 1,848 1,009 1,643 178] 8,796

IEMTHSE] = VFE 2 JE T 0.4978| 0.4424] 0.5952| 0.4955| 0.3651| 0.5617| 0.4888

B e [T = 1 2 58T A 11 5 6 16 6 0 44

EATSRT = 1FE > 4 A B | 2,175 837 845] 1,451] 1,126 130] 6,564

BT = VFE 2 SR T 0.5057| 0.5973| 0.7100] 1.1026| 0.5328| 0.0000] 0.6703

B RE |ZEMTFRE = 14 25T A 0 1 0 0 0 0 1

BRI = 145 2 489 A\ H L 48 169 156 0 119 of 492

BT = VE 2 RT3 0.0000] 0.5917| 0.0000] 0.0000] 0.0000| 0.0000] 0.2032

FEIE2 T | = VE 2 36T A8 0 1 2 0 0 0 3

IFEATHR ] = 145 27 485 A 8 0 31 132 15 12 0 190

BATISR = LFE SR T 0.0000] 3.2258| 1.5151| 0.0000] 0.0000| 0.0000] 1.5789

1074F 25228 | B2l |IETIF R = 1 238 T A8 13 7 6 1 2 1 30




BT = 1> 48 A B | 3,219 945 1,864 1,013] 1,654 181] 8,876

BT = 1 23T 0.4038| 0.7407| 0.3218] 0.0987| 0.1209| 0.5524] 0.3379

EIREE R [T = 19 2 58T A B 13 3 3 7 8 0 34
EATHERY = 14E > 44 A B | 2,160 856 853 1,460 1,140 137] 6,606

BTSN = VSR 0.6018] 0.3504| 0.3516| 0.4794] 0.7017] 0.0000] 0.5146

I B EE |ZEMTHFRE = 14 2 5E T A 1 1 0 0 0 0 2
BT = 145 2> 4895 A H 55 189 165 0 123 0 532

BT = 1 23T 1.8181] 0.5291] 0.0000] 0.0000] 0.0000] 0.0000| 0.3759

g2t BT = VE 2 38T A 0 0 1 0 0 0 1
BT = 147 2> 489 A H 0 29 130 12 12 0 183

BEATIER = VE SR T 0.0000] 0.0000| 0.7692| 0.0000] 0.0000] 0.0000| 0.5464
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